Aim: How did the Compromise of 1850 affect the United States?


I. The Wilmot Proviso
· The North feared the extension of slavery 

· David Wilmot  proposed the Wilmot Proviso 

· This would prohibit slavery in lands acquired from Mexico 

· Plan was defeated in the Senate

II. Problem with California
· Gold Rush in the late 1840’s

· California was ready for admission as a state in 1850

· thousands of people moved to California

· Forty-Niners- Searched for gold in 1849
· opposed to slavery

III. Compromise of 1850

1. California wanted to be a free state and prohibited slavery

2. Henry Clay accommodated the North and South

**These are the key points of the Compromise of 1850:

1. California was admitted as a free state.

2. New Mexico and Utah would decide on slavery; called popular sovereignty 

3. Fugitive Slave Act: all people had to aid in the capture and return of escaped slaves

